2.5

1.5

NRMSE

0.5

1.5
1.4
1.3
1.2
1.1

0.9
0.8
0.7
0.6

Mean ARR

0.1

0.08

=~ 0.06

R

0.04

0.02

Statistics with different K values

0.88
0.86
0.84
0.82

MRD

0.8
0.78
0.76

B
o

0.74

[],2.0] &) 3.0](3.0’ <(.0](4.0) 5.0](5.0, 6.0](60’ 7-0](7'0’ 9.0](9.0) 12;]]2

K value

0.66
0.64
0.62

0.6
0.58
0.56
0.54
0.52

0.5

Spearman

[1,2.0] (Q.Q 3 (3.0 (4Q5 (5'0’6’. (

6. . :
07 %0y 0} 0} %20 90777 2.0

K value

[1,3‘0] &%) 3.0](3.0, <(0](4'.0, 5.0](5.0, 6.0(6'0’ > (Z0 9 (9.0 2

K value

[],2.0] &) 3

[],2.0] (Q.Q 3

== NRMSE
=== MRD

=== Mean ARR
=== Spearman
== RE

Bo , 4o~ o, 6o, Coo Q0 , 1

0 > 40) =S50, 6.0 > 70) 9.0 ,12.0]2
K value

Bo , o~ GCop, . 6g ., Co., Op . "1
K value



